a(0 @) (raqd)

~ 1= —
= : IS
2 =
2 -
> o
= ©
> 107
E: 10—1
1072
g : : : T : : :
nd [ -+ : @ L H
1_— ----------- ------------ 1_— ----- 44 q. ------------
0'9150-'1 1 10 (:JZ 3 0'915(;'1 1 10 (:)2 3
TPp, (PCA t]b beamliné‘? TPp, (PCA t]b beamliné‘f)
n=
o
"
o
o
5
107}
O 10— P LN O L L A Y IO
g
4 r
1_— ----- L S R
0.950 :
107 1

=
<

a(d cot(d))

H
S
o

1 107 1

2 3
TPlpoT (PCA t%obeamlinélf)

—— DQM_V0001_R000000001__Global_CMSSW _orig
—— DQM_V0001_R000000001__Global__CMSSW_dt08

—— DQM_V0001_R000000001__Global__CMSSW_dt05

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


